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1 138 + 12 131 + 29 128 =+ 06 +
2 131 = 06 139 =+ 06 132 =+ 00 +
3 112 = 06 115 = 06 110 = 06 +
4 153 + 06 159 + 1.2 150 =+ 10 +
5 154 + 16 161 =+ 1.2¢ 152 + 06 =
6 120 + 10" 123 + 16 117 = 00 =
7 114 + 127 120 + 10% 113 = 207 =
8 134 + 06 138 =+ 2.3° 132 = 007 =
9 119 =+ 00 123 =+ 1.2°¢ 117 =+ 06" =
10 107 = 1.2 110 =+ 06 107 =+ 15% +
L B B 46 =+ 08 46 =+ 07 47 + 06 +
(4516 B~7 8 26 B) (7H158~10H 27 8) (10 A15H~1H 24 RH) (B B~ A B

*1:REHFG 4 A 22 B~7 A 21 BTHA *5: BREHMIG 7 A 21 H~10 A 21 BTH%.
*2: BREBEHMIT4 A 238~7 A 21 BTHA, * 6:FXEHRIT7 A 20 B~10 A 21 HTHS.
*3: REBHNIZ4 828 8~7H20 BTHS,  * 7 BEHRIE 108 21 B~1 B 19 BTHS,
4 EHRIETA21B~10A 19 BTHS,  *8: REHMIE10A 21 B~1 A 20 HTHS,
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